Lecture 18: Kinetics (continued)

Announcements:

* Problem Set 4 due today

+ Problem Set 5 due Thurs, 11/10 (will be posted by Fri morning)

* Midterm 2 on Thurs, 11/17

* No class on Tues, 11/8 (Go vote!)

« Seminar on Wed, 11/9, 4pm, 219 BRL: Prof Bekka Klausen (JHU)

Today:
* A correction from last time
+ Kinetics of catalytic cycles (continued)
+ Asymmetric catalysis
o How does it work?
o Kinetic considerations



Correction from Last Time (Jessica was right)
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Simplifies catayve Cycle for Kinehc Analysis:
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